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b) There are three classes of corn, of which three bundles of the first class, two of the second, and
one of the third make 39 measures. Two of the first, three of the second, and one of the third
makes 34 measures. And one of the first, two of the second, and three of the third make 26

measures. How many measures of grain are contained in one bundle of each class.
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Three neighbors have backyard vegetable gardens. Neighbor 4 grows tomatoes, neighbor B
grows corn, and neighbor C grows lettuce. They agree to divide their crops among themselves as
follows: A gets % of tomatoes, % of the corn, and i of the lettuce. B gets % of the tomatoes, % of
the corn, and % of the lettuce. C gets é of the tomatoes, % of the corn, and % of the lettuce. What
prices should the neighbors assign to their respective crops if the equilibrium condition of a closed

economy is to be satisfied, and if the lowest-priced crop is to have a price of $100?
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HDIMCIDDELEXSFINGD. B¥E IRIF—EX BIOLEHLENT, EN2NIL
o BED1RIBSOMMEEETDICIE, RESPIN'S 0.20 RILESOEME, TRILF—BFID
5 040 BILBSOIRIF—HEHIETHSD.

o ITRIF—EHEN1RIVBIDOIRIF—ZEEIDICIE, ITRILF—EPIH'S 0.20 BILBSDT
FIF 5L, 040 RIVBSOIERGDBRADMNETHD.

o TZFIN 1 RILBBDHRRBZEEIDDIC, 0.10 RILESOEEY, 0.10 RIULBSDOIRILF—
15, KTV 0.30 FIMBSDOTERRBDIRADMETHD.

S, NEND, BEBPIC 20 BHIL, TRILF—EFIIC 10 BRIV, TEFIIC 30 REILDFELH >
LD CORBEHZIHICENZITOEESE I NE. ABOTFEZH=UDD. NEBFEIC
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